

Symmetries with Greek means

SILVIA TOADER AND GHEORGHE TOADER

ABSTRACT. A mean N is called complementary to M with respect to P if it verifies the relation

$$P(M(a, b), N(a, b)) = P(a, b), \forall a, b > 0.$$

We look for the complementary of a Greek mean with respect to another. We determine all the cases in which it is again a Greek mean.

1. INTRODUCTION

As a brief definition of means, usually is given the following

Definition 1. A **mean** is a function $M : \mathbb{R}_+^2 \rightarrow \mathbb{R}_+$, which has the property

$$a \wedge b \leq M(a, b) \leq a \vee b, \forall a, b > 0$$

where

$$a \wedge b = \min(a, b) \text{ and } a \vee b = \max(a, b).$$

We remark that $\wedge$ and $\vee$ are means.

We use ordinary notations for operations with functions. For example $M + N$ is defined by

$$(M + N)(a, b) = M(a, b) + N(a, b), \forall a, b > 0.$$

Of course, if M and N are means, the result of the operation with functions is not a mean. We have to combine more operations with functions to get a (partial) operation with means. Such a method is the **composition** of means. Given three means M, N and P , the expression

$$P(M, N)(a, b) = P(M(a, b), N(a, b)), \forall a, b > 0,$$

defines also a mean $P(M, N)$.

We write also

$$M \leq N$$

to denote

$$M(a, b) \leq N(a, b), \forall a, b > 0.$$

Using the method of proportions, the Pythagorean school defined ten means: the arithmetic mean $\mathcal{A}$, the geometric mean $\mathcal{G}$ the harmonic mean $\mathcal{H}$ the contraharmonic mean $\mathcal{C}$ and six unnamed means $\mathcal{F}_i$, $i = 5, \dots, 10$. As many other important Greek mathematical contributions, the means are presented by Pappus of Alexandria in his books, in the fourth century AD (see [5]). Some indications about them can be found in the books [4, 2, 1, 3], or in [7].

Received: 19.09.2004. In revised form: 21.12.2004.

2000 *Mathematics Subject Classification.* 26E60.

Key words and phrases. *Greek means, complementary of a mean with respect to another.*

Using operations with $\wedge$ and $\vee$, we can give the Greek means as follows:

$$\begin{aligned}\mathcal{A} &= \frac{\vee + \wedge}{2}, \quad \mathcal{G} = \sqrt{\vee \wedge}, \quad \mathcal{H} = \frac{2 \vee \wedge}{\vee + \wedge}, \quad \mathcal{C} = \frac{\vee^2 + \wedge^2}{\vee + \wedge}, \\ \mathcal{F}_5 &= \frac{1}{2} \left[\vee - \wedge + \sqrt{(\vee - \wedge)^2 + 4\wedge^2} \right], \quad \mathcal{F}_6 = \frac{1}{2} \left[\wedge - \vee + \sqrt{(\vee - \wedge)^2 + 4\vee^2} \right], \\ \mathcal{F}_7 &= \frac{\vee^2 - \vee \wedge + \wedge^2}{\vee}, \quad \mathcal{F}_8 = \frac{\vee^2}{2\vee - \wedge}, \\ \mathcal{F}_9 &= \frac{\wedge(2\vee - \wedge)}{\vee} \text{ and } \mathcal{F}_{10} = \frac{1}{2} \left[\wedge + \sqrt{\wedge(4\vee - 3\wedge)} \right].\end{aligned}$$

By the same method the power means (or Hölder means) are given by:

$$\mathcal{P}_n = \left(\frac{\wedge^n + \vee^n}{2} \right)^{\frac{1}{n}}, \quad n \neq 0$$

and the n - counter-harmonic mean (or Lehmer mean):

$$\mathcal{C}_n = \frac{\wedge^n + \vee^n}{\wedge^{n-1} + \vee^{n-1}}.$$

2. COMPLEMENTARY MEANS

In [6] is given the following definition which is then used for the case of the Greek means.

Definition 2. A mean N is called **complementary to M with respect to P** (or **P -complementary to M**) if it verifies

$$P(M, N) = P$$

Then in [8] was determined the complementaries of the Greek means with respect to the first five Greek means. In this paper we want to continue by determining the complementaries of the Greek means with respect to the last five Greek means. We shall denote the complementary of the mean M with respect to $\mathcal{F}_i$ by $M^{\mathcal{F}_i}$. In [6] was given the following

Theorem 1. *We have successively*

$$\begin{aligned}M^{\mathcal{F}_6} &= \begin{cases} \mathcal{F}_6 + M - \frac{M^2}{\mathcal{F}_6} & , \text{ if } \mathcal{F}_6 \leq M \\ \frac{1}{2} \left[\mathcal{F}_6 + \sqrt{\mathcal{F}_6(5\mathcal{F}_6 - 4M)} \right] & , \text{ if } \mathcal{F}_6 \geq M \end{cases} ; \\ M^{\mathcal{F}_7} &= \begin{cases} \frac{1}{2} \left[M + \sqrt{M(4\mathcal{F}_7 - 3M)} \right] & , \text{ if } \mathcal{F}_7 \leq M \\ \frac{1}{2} \left[M + \mathcal{F}_7 + \sqrt{\mathcal{F}_7^2 + 2M\mathcal{F}_7 - 3M^2} \right] & , \text{ if } \mathcal{F}_7 \geq M \end{cases} ; \\ M^{\mathcal{F}_8} &= \begin{cases} 2M - \frac{M^2}{\mathcal{F}_8} & , \text{ if } \mathcal{F}_8 \leq M \\ \mathcal{F}_8 + \sqrt{\mathcal{F}_8(\mathcal{F}_8 - M)} & , \text{ if } \mathcal{F}_8 \geq M \end{cases} ;\end{aligned}$$

$$M^{\mathcal{F}_9} = \begin{cases} M - \sqrt{M(M - \mathcal{F}_9)}, & \text{if } \mathcal{F}_9 \leq M \\ \frac{M^2}{2M - \mathcal{F}_9}, & \text{if } \mathcal{F}_9 \geq M \end{cases} ;$$

$$M^{\mathcal{F}_{10}} = \begin{cases} \frac{1}{2} \left[M + \mathcal{F}_{10} - \sqrt{M^2 + 2M\mathcal{F}_{10} - 3\mathcal{F}_{10}^2} \right], & \text{if } \mathcal{F}_{10} \leq M \\ M - \mathcal{F}_{10} + \frac{\mathcal{F}_{10}^2}{M}, & \text{if } \mathcal{F}_{10} \geq M \end{cases} .$$

Using it, we can determine later the complementaries:

Theorem 2. Let $t_2 > 1$ respectively $t_4 > 1$ be the roots of the equations

$$t^3 - t^2 - 2t + 1 = 0, \quad t^3 - 3t^2 + 2t - 1 = 0 .$$

The complementary of the Greek means with respect to $\mathcal{F}_6$ are:

$$\begin{aligned} \mathcal{A}^{\mathcal{F}_6} &= \frac{1}{4} \left[\sqrt{(\vee - \wedge)^2 + 4\vee^2} - \vee + \wedge + \sqrt{2} \right. \\ &\quad \cdot \sqrt{17\vee^2 - 10\vee\wedge + 3\wedge^2 - (7\vee - 3\wedge) \sqrt{(\vee - \wedge)^2 + 4\vee^2}} \left. \right] ; \\ \mathcal{G}^{\mathcal{F}_6} &= \frac{1}{4} \left[\sqrt{(\vee - \wedge)^2 + 4\vee^2} - \vee + \wedge + \sqrt{2} \right. \\ &\quad \cdot \sqrt{15\vee^2 - 10\vee\wedge + 5\wedge^2 + 4\sqrt{\vee\wedge}(\vee - \wedge) - (5\vee - 5\wedge + 4\sqrt{\vee\wedge}) \sqrt{(\vee - \wedge)^2 + 4\vee^2}} \left. \right] ; \\ \mathcal{H}^{\mathcal{F}_6} &= \frac{1}{4} \left[\sqrt{(\vee - \wedge)^2 + 4\vee^2} - \vee + \wedge + \sqrt{\frac{2}{\vee + \wedge}} \right. \\ &\quad \cdot \sqrt{15\vee^3 + 13\vee^2\wedge - 13\vee\wedge^2 + 5\wedge^3 - (5\vee^2 + 8\vee\wedge - 5\wedge^2) \sqrt{(\vee - \wedge)^2 + 4\vee^2}} \left. \right] ; \\ \mathcal{C}^{\mathcal{F}_6} &= \frac{\wedge}{2\vee^2(\vee + \wedge)^2} \left[2\vee^4 + \vee^3\wedge + 5\vee^2\wedge^2 - \vee\wedge^3 + \wedge^4 \right. \\ &\quad \left. + (2\vee^3 - \vee^2\wedge - \wedge^3) \sqrt{(\vee - \wedge)^2 + 4\vee^2} \right] ; \\ \mathcal{F}_5^{\mathcal{F}_6} &= 2\wedge + \frac{1}{4\vee^2} \\ &\quad \cdot \left[\sqrt{(\vee - \wedge)^2 + 4\wedge^2} - \vee - 3\wedge \right] \left[\vee^2 + 2\vee\wedge - \wedge^2 + (\wedge - \vee) \sqrt{(\vee - \wedge)^2 + 4\vee^2} \right] \\ \mathcal{F}_7^{\mathcal{F}_6} &= \\ &= \begin{cases} \left[38\vee^3 - 36\vee^2\wedge + 26\vee\wedge^2 - 3\wedge^3 - (18\vee^2 - 18\vee\wedge + 8\wedge^2) \right. \\ \quad \cdot \sqrt{(\vee - \wedge)^2 + 4\vee^2} \left. \right]^{1/2} \cdot \frac{1}{2\sqrt{\vee}} + \frac{1}{2} \left(\sqrt{(\vee - \wedge)^2 + 4\vee^2} - \vee + \wedge \right), & \vee \leq t_4 \cdot \wedge \\ \frac{1}{4\vee^4} \left[3\vee^5 - 5\vee^4\wedge + 9\vee^3\wedge^2 - 5\vee^2\wedge^3 + 3\vee\wedge^4 - \wedge^5 \right. \\ \quad \left. + (\vee^4 + 2\vee^3\wedge - 3\vee^2\wedge^2 + 2\vee\wedge^3 - \wedge^4) \sqrt{(\vee - \wedge)^2 + 4\vee^2} \right], & \vee \geq t_4 \cdot \wedge \end{cases} ; \end{aligned}$$

$$\begin{aligned}
\mathcal{F}_8^{\mathcal{F}6} &= \frac{1}{2} \left[\sqrt{(\vee - \wedge)^2 + 4\vee^2} - \vee + \wedge + \sqrt{\frac{2}{2\vee - \wedge}} \right. \\
&\quad \cdot \sqrt{34\vee^3 - 39\vee^2\wedge + 20\vee\wedge^2 - 5\wedge^3 - (14\vee^2 - 15\vee\wedge + 5\wedge^2) \sqrt{(\vee - \wedge)^2 + 4\vee^2}} \Big] ; \\
\mathcal{F}_9^{\mathcal{F}6} &= \\
&= \begin{cases} \frac{\frac{1}{2\vee^4} \left[(\vee^4 - 4\vee^2\wedge^2 + 4\vee\wedge^3 - \wedge^4) \sqrt{(\vee - \wedge)^2 + 4\vee^2} \right.}{- \vee^5 + 5\vee^4\wedge - 6\vee^3\wedge^2 + 8\vee^2\wedge^3 - 5\vee\wedge^4 + \wedge^5} \Big], \vee \leq t_2 \cdot \wedge \\ \sqrt{15\vee^3 - 2\vee^2\wedge - 7\vee\wedge^2 + 4\wedge^3 - (5\vee^2 + 3\vee\wedge - 4\wedge^2) \sqrt{(\vee - \wedge)^2 + 4\vee^2}} \\ \cdot \sqrt{\frac{1}{8\vee}} + \frac{1}{4} \left(\sqrt{(\vee - \wedge)^2 + 4\vee^2} - \vee + \wedge \right), \vee \geq t_2 \cdot \wedge \end{cases} ; \\
\mathcal{F}_{10}^{\mathcal{F}6} &= \\
&= \begin{cases} \frac{\frac{1}{4\vee^2} \left[(2\vee^2 - 2\vee\wedge + \wedge^2) \sqrt{(\vee - \wedge)^2 + 4\vee^2} + (2\vee^2 - \vee\wedge + \wedge^2) \right.}{\cdot \sqrt{\wedge(4\vee - 3\wedge)} - \wedge \sqrt{\wedge(4\vee - 3\wedge)} \cdot \sqrt{(\vee - \wedge)^2 + 4\vee^2} - 2\vee^3 \\ + 2\vee^2\wedge + 3\vee\wedge^2 - \wedge^3} \Big], \vee \leq t_4 \cdot \wedge \\ \sqrt{10\vee^2 - \left(\sqrt{(\vee - \wedge)^2 + 4\vee^2} + \wedge - \vee \right) \cdot \left(2\sqrt{\wedge(4\vee - 3\wedge)} + 5\vee - 3\wedge \right)} \\ \cdot \frac{\sqrt{2}}{4} + \frac{1}{4} \left(\sqrt{(\vee - \wedge)^2 + 4\vee^2} - \vee + \wedge \right), \vee \geq t_4 \cdot \wedge \end{cases}
\end{aligned}$$

Theorem 3. Let $s_1 = (1 + \sqrt{5})/2$, and $t_1 > 1$ respectively $t_4 > 1$ be the roots of the equations

$$t^3 - 2t^2 + t - 1 = 0, \quad t^3 - 3t^2 + 2t - 1 = 0.$$

The complementary of the Greek means with respect to $\mathcal{F}_7$ are:

$$\begin{aligned}
\mathcal{A}^{\mathcal{F}7} &= \begin{cases} \frac{1}{4} \left[\vee + \wedge + \frac{1}{\sqrt{\vee}} \sqrt{(\vee + \wedge)(5\vee^2 - 11\vee\wedge + 8\wedge^2)} \right], \vee \leq 2\wedge \\ \frac{1}{4\vee} [3\vee^2 - \vee\wedge + 2\wedge^2 + \sqrt{5\vee^4 - 14\vee^3\wedge + 9\vee^2\wedge^2 - 4\vee\wedge^3 + 4\wedge^4}], \\ \vee \geq 2\wedge; \end{cases} \\
\mathcal{G}^{\mathcal{F}7} &= \begin{cases} \frac{1}{2\vee} \left[\sqrt{\vee^4 - 5\vee^3\wedge + 3\vee^2\wedge^2 - 2\vee\wedge^3 + \wedge^4 + 2\vee\sqrt{\vee\wedge}(\vee^2 - \vee\wedge + \wedge^2)} \right. \\ \quad \left. + \vee^2 - \vee\wedge + \wedge^2 + \vee\sqrt{\vee\wedge} \right], \vee \leq t_1 \cdot \wedge \\ \frac{1}{2} \left[\sqrt{\vee\wedge} + \sqrt{4\sqrt{\frac{\wedge}{\vee}}(\vee^2 - \vee\wedge + \wedge^2) - 3\vee\wedge} \right], \vee \geq t_1 \cdot \wedge \end{cases} ; \\
\mathcal{H}^{\mathcal{F}7} &= \begin{cases} \frac{1}{\vee + \wedge} \left[\vee\wedge + \sqrt{\wedge(2\vee^3 - 3\vee^2\wedge + 2\wedge^3)} \right], \vee \leq s_1 \cdot \wedge \\ \frac{1}{2\vee(\vee + \wedge)} \left[\vee^3 + 2\vee^2\wedge + \wedge^3 \right. \\ \quad \left. + \sqrt{\vee^6 + 4\vee^5\wedge - 12\vee^4\wedge^2 + 2\vee^3\wedge^3 + 4\vee^2\wedge^4 + \wedge^6} \right], \vee \geq s_1 \cdot \wedge \end{cases} \\
\mathcal{C}^{\mathcal{F}7} &= \frac{1}{2\vee(\vee + \wedge)} \left[\vee(\vee^2 + \wedge^2) + \sqrt{\vee(\vee^2 + \wedge^2)(\vee^3 - 3\vee\wedge^2 + 4\wedge^3)} \right] ;
\end{aligned}$$

$$\begin{aligned}
\mathcal{F}_5^{\mathcal{F}7} &= \frac{1}{4} \left[\sqrt{(\vee - \wedge)^2 + 4\wedge^2} + \vee - \wedge + \sqrt{\frac{2}{\vee}} \right. \\
&\quad \cdot \sqrt{(\vee^2 - \vee \wedge + 4\wedge^2) \sqrt{(\vee - \wedge)^2 + 4\wedge^2} + \vee (\vee^2 - 2\vee \wedge - \wedge^2)} \left. \right] ; \\
\mathcal{F}_6^{\mathcal{F}7} &= \\
= \left\{ \begin{aligned} &\sqrt{\frac{1}{8\vee}} \left[(7\vee^2 - 7\vee \wedge + 4\wedge^2) \sqrt{(\vee - \wedge)^2 + 4\vee^2} - 13\vee^3 + 14\vee^2 \wedge \right. \\ &\quad \left. - 11\vee \wedge^2 + 4\wedge^3 \right]^{1/2} + \frac{1}{4} \left(\sqrt{(\vee - \wedge)^2 + 4\vee^2} - \vee + \wedge \right) , \vee \leq t4 \cdot \wedge \\ &\frac{\sqrt{2}}{4\vee} \left[\vee (5\vee^2 - 5\vee \wedge + 2\wedge^2) \sqrt{(\vee - \wedge)^2 + 4\vee^2} - 9\vee^4 + 6\vee^3 \wedge - \vee^2 \wedge^2 \right. \\ &\quad \left. - 2\vee \wedge^3 + 2\wedge^4 \right]^{1/2} + \frac{1}{4\vee} \left(\vee \sqrt{(\vee - \wedge)^2 + 4\vee^2} + \vee^2 - \vee \wedge + 2\wedge^2 \right) , \vee \geq t4 \cdot \wedge \end{aligned} \right. \\
\mathcal{F}_8^{\mathcal{F}7} &= \frac{1}{2\vee(2\vee - \wedge)} \left[3\vee^3 - 3\vee^2 \wedge + 3\vee \wedge^2 - \wedge^3 \right. \\
&\quad \left. + \sqrt{5\vee^6 - 18\vee^5 \wedge + 27\vee^4 \wedge^2 - 24\vee^3 \wedge^3 + 15\vee^2 \wedge^4 - 6\vee \wedge^5 + \wedge^6} \right] ; \\
\mathcal{F}_9^{\mathcal{F}7} &= \left\{ \begin{aligned} &\frac{1}{2\vee} \left[\wedge (2\vee - \wedge) + \sqrt{\wedge (2\vee - \wedge) (4\vee^2 - 10\vee \wedge + 7\wedge^2)} \right] , \vee \leq 2\wedge \\ &\frac{\vee + \wedge}{2} + \frac{1}{2\vee} \sqrt{\vee^4 + 2\vee^3 \wedge - 15\vee^2 \wedge^2 + 16\vee \wedge^3 - 4\wedge^4} , \vee \geq 2\wedge \end{aligned} \right. \\
\mathcal{F}_{10}^{\mathcal{F}7} &= \\
= \left\{ \begin{aligned} &\sqrt{\frac{1}{8\vee}} \left[(4\vee^2 - 7\vee \wedge + 4\wedge^2) \sqrt{\wedge (4\vee - 3\wedge)} \right. \\ &\quad \left. - \wedge (2\vee^2 + \vee \wedge - 4\wedge^2) \right]^{1/2} + \frac{1}{4} \left(\sqrt{\wedge (4\vee - 3\wedge)} + \wedge \right) , \vee \leq t4 \cdot \wedge \\ &\frac{\sqrt{2}}{4\vee} \left[2\vee^4 - 8\vee^3 \wedge + 7\vee^2 \wedge^2 - 2\vee \wedge^3 + 2\wedge^4 + \vee (2\vee^2 - 5\vee \wedge + 2\wedge^2) \right. \\ &\quad \left. \cdot \sqrt{\wedge (4\vee - 3\wedge)} \right]^{1/2} + \frac{1}{4\vee} \left[2\vee^2 - \vee \wedge + 2\wedge^2 + \vee \sqrt{\wedge (4\vee - 3\wedge)} \right] , \vee \geq t4 \cdot \wedge \end{aligned} \right. .
\end{aligned}$$

Theorem 4. Let $s3 = (3 + \sqrt{5})/2$, and $t5 > 1$ the root of the equation

$$t^3 - 5t^2 + 4t - 1 = 0 .$$

The complementary of the Greek means with respect to $\mathcal{F}_8$ are:

$$\begin{aligned}
\mathcal{A}^{\mathcal{F}8} &= \frac{1}{4\vee^2} (2\vee^3 + \vee^2 \wedge + \wedge^3) ; \\
\mathcal{G}^{\mathcal{F}8} &= \left\{ \begin{aligned} &2\sqrt{\vee \wedge} - \frac{\wedge(2\vee - \wedge)}{\vee} , \vee \leq s3 \cdot \wedge \\ &\frac{\vee}{2\vee - \wedge} \left[\vee + \sqrt{\vee^2 - \sqrt{\vee \wedge} (2\vee - \wedge)} \right] , \vee \geq s3 \cdot \wedge \end{aligned} \right. \\
\mathcal{H}^{\mathcal{F}8} &= \left\{ \begin{aligned} &\frac{4\wedge}{(\vee + \wedge)^2} \cdot (\vee^2 - \vee \wedge + \wedge^2) , \vee \leq 2\wedge \\ &\frac{\vee}{2\vee - \wedge} \left[\vee + \sqrt{\frac{\vee}{\vee + \wedge}} \cdot \sqrt{\vee^2 - 3\vee \wedge + 2\wedge^2} \right] , \vee \geq 2\wedge \end{aligned} \right. ; \\
\mathcal{C}^{\mathcal{F}8} &= \frac{\wedge (\vee^2 + \wedge^2)}{\vee^2 (\vee + \wedge)^2} (3\vee^2 - 2\vee \wedge + \wedge^2) ; \\
\mathcal{F}_5^{\mathcal{F}8} &= \frac{\wedge}{2\vee^2} \left[3\vee^2 - 8\vee \wedge + 3\wedge^2 + (3\vee - \wedge) \sqrt{(\vee - \wedge)^2 + 4\wedge^2} \right] ;
\end{aligned}$$

$$\mathcal{F}_6^{\mathcal{F}^8} = \frac{1}{2\sqrt{2}} \left[(4\sqrt{2} - 3\sqrt{\Lambda} + \Lambda^2) \sqrt{(\sqrt{2} - \Lambda)^2 + 4\sqrt{2} - 8\sqrt{2}^3 + 9\sqrt{2}^2 \Lambda - 4\sqrt{2} \Lambda^2 + \Lambda^3} \right] ;$$

$$\mathcal{F}_7^{\mathcal{F}^8} = \frac{\Lambda}{\sqrt{4}} (\sqrt{2} - \sqrt{\Lambda} + \Lambda^2) (3\sqrt{2} - 3\sqrt{\Lambda} + \Lambda^2) ;$$

$$\mathcal{F}_9^{\mathcal{F}^8} = \begin{cases} \frac{\frac{\Lambda(2\sqrt{2}-\Lambda)}{\sqrt{4}} (2\sqrt{2}^3 - 4\sqrt{2}^2 \Lambda + 4\sqrt{2} \Lambda^2 - \Lambda^3)}{\frac{\Lambda}{(2\sqrt{2}-\Lambda)\sqrt{\Lambda}}} \left[\sqrt{\Lambda} + \sqrt{(\sqrt{2} - \Lambda)(\sqrt{2}^2 - 3\sqrt{\Lambda} + \Lambda^2)} \right], & \sqrt{2} \leq s3 \cdot \Lambda \\ \frac{\Lambda}{(2\sqrt{2}-\Lambda)\sqrt{\Lambda}} \left[\sqrt{\Lambda} + \sqrt{(\sqrt{2} - \Lambda)(\sqrt{2}^2 - 3\sqrt{\Lambda} + \Lambda^2)} \right], & \sqrt{2} \geq s3 \cdot \Lambda \end{cases} ;$$

$$\mathcal{F}_{10}^{\mathcal{F}^8} = \begin{cases} \frac{\frac{\sqrt{\Lambda}}{2\sqrt{2}} [(2\sqrt{2}^2 - 2\sqrt{\Lambda} + \Lambda^2) \sqrt{4\sqrt{2} - 3\Lambda} - (2\sqrt{2}^2 - 4\sqrt{\Lambda} + \Lambda^2) \sqrt{\Lambda}]}{\sqrt{2} \leq t5 \cdot \Lambda}, \\ \frac{\frac{\sqrt{\Lambda}}{2\sqrt{2}-\Lambda} \left[\sqrt{\Lambda} + \frac{1}{\sqrt{2}} \sqrt{2\sqrt{2}^2 - 2\sqrt{\Lambda} + \Lambda^2 - (2\sqrt{2} - \Lambda) \sqrt{\Lambda(4\sqrt{2} - 3\Lambda)}} \right]}{\sqrt{2} \geq t5 \cdot \Lambda}, \end{cases}$$

Theorem 5. Let $s1 = (1 + \sqrt{5})/2$, $s2 = 1 + \sqrt{2}/2$ and $s3 = (3 + \sqrt{5})/2$, while $t2 > 1$ be the root of the equation

$$t^3 - t^2 - 2t + 1 = 0 .$$

The complementary of the Greek means with respect to $\mathcal{F}_9$ are:

$$\mathcal{A}^{\mathcal{F}^9} = \begin{cases} \frac{\frac{\sqrt{2}(\sqrt{2}+\Lambda)^2}{4(\sqrt{2}^2 - \sqrt{\Lambda} + \Lambda^2)}}{\frac{1}{2} \left[\sqrt{2} + \Lambda - \sqrt{\frac{\sqrt{2}+\Lambda}{\sqrt{2}}} (\sqrt{2}^2 - 3\sqrt{\Lambda} + 2\Lambda^2) \right]}, & \sqrt{2} \leq 2\Lambda \\ \frac{1}{2} \left[\sqrt{2} + \Lambda - \sqrt{\frac{\sqrt{2}+\Lambda}{\sqrt{2}}} (\sqrt{2}^2 - 3\sqrt{\Lambda} + 2\Lambda^2) \right], & \sqrt{2} \geq 2\Lambda \end{cases} ;$$

$$\mathcal{G}^{\mathcal{F}^9} = \begin{cases} \frac{\frac{\sqrt{2}^2 \sqrt{\Lambda}}{2\sqrt{2}\sqrt{\sqrt{2}-(2\sqrt{2}-\Lambda)\sqrt{\Lambda}}}}{\sqrt{\Lambda} \left[\sqrt{\Lambda} - \sqrt{\sqrt{2} - \sqrt{\frac{\Lambda}{\sqrt{2}}}} (2\sqrt{2} - \Lambda) \right]}, & \sqrt{2} \leq s3 \cdot \Lambda \\ \sqrt{\Lambda} \left[\sqrt{\Lambda} - \sqrt{\sqrt{2} - \sqrt{\frac{\Lambda}{\sqrt{2}}}} (2\sqrt{2} - \Lambda) \right], & \sqrt{2} \geq s3 \cdot \Lambda \end{cases}$$

$$\mathcal{H}^{\mathcal{F}^9} = \frac{4\sqrt{2}^3 \Lambda}{(\sqrt{2} + \Lambda)(2\sqrt{2}^2 - \sqrt{\Lambda} + \Lambda^2)} ,$$

$$\mathcal{C}^{\mathcal{F}^9} = \begin{cases} \frac{\frac{\sqrt{2}(\sqrt{2}+\Lambda^2)^2}{(\sqrt{2}+\Lambda)(2\sqrt{2}^3 - 2\sqrt{2}^2 \Lambda + \sqrt{2} \Lambda^2 + \Lambda^3)}}{\frac{\sqrt{\sqrt{2}+\Lambda^2}}{\sqrt{2}+\Lambda} \left[\sqrt{\sqrt{2}^2 + \Lambda^2} - \sqrt{\frac{\sqrt{2}-2\sqrt{2}^2 \Lambda + \Lambda^3}{\sqrt{2}}} \right]}, & \sqrt{2} \leq s1 \cdot \Lambda \\ \frac{\sqrt{\sqrt{2}+\Lambda^2}}{\sqrt{2}+\Lambda} \left[\sqrt{\sqrt{2}^2 + \Lambda^2} - \sqrt{\frac{\sqrt{2}-2\sqrt{2}^2 \Lambda + \Lambda^3}{\sqrt{2}}} \right], & \sqrt{2} \geq s1 \cdot \Lambda \end{cases} ;$$

$$\mathcal{F}_5^{\mathcal{F}^9} = \begin{cases} \frac{\frac{\sqrt{2} [2\sqrt{2}^3 - 3\sqrt{2}^2 \Lambda + 6\sqrt{2} \Lambda^2 - 3\Lambda^3 + (2\sqrt{2} - \sqrt{\Lambda} + \Lambda^2) \sqrt{(\sqrt{2} - \Lambda)^2 + 4\Lambda^2}]}{2(4\sqrt{2}^3 - 6\sqrt{2}^2 \Lambda + 6\sqrt{2} \Lambda^2 - \Lambda^3)}}{\frac{1}{2} \left[\sqrt{2} - \Lambda + \sqrt{(\sqrt{2} - \Lambda)^2 + 4\Lambda^2} - \sqrt{\frac{2}{\sqrt{2}}} \right]}, & \sqrt{2} \leq s2 \cdot \Lambda \\ \frac{1}{2} \left[\sqrt{2} - \Lambda + \sqrt{(\sqrt{2} - \Lambda)^2 + 4\Lambda^2} - \sqrt{\frac{2}{\sqrt{2}}} \right], & \sqrt{2} \geq s2 \cdot \Lambda \end{cases}$$

$$\mathcal{F}_6^{\mathcal{F}^9} =$$

$$\begin{aligned}
&= \left\{ \begin{array}{l} \frac{\sqrt[5]{2(4\sqrt[4]{4}-4\sqrt[3]{4}\Lambda+2\sqrt[2]{4}\Lambda^2+2\sqrt[3]{4}\Lambda^3-\Lambda^4)}}{2(4\sqrt[4]{4}-4\sqrt[3]{4}\Lambda+2\sqrt[2]{4}\Lambda^2+2\sqrt[3]{4}\Lambda^3-\Lambda^4)} \left[-2\sqrt[4]{4}+8\sqrt[3]{4}\Lambda \right. \\ \left. -7\sqrt[2]{4}\Lambda^2+4\sqrt[3]{4}\Lambda^3-\Lambda^4 + (2\sqrt[3]{4}-2\sqrt[2]{4}\Lambda+3\sqrt[4]{4}\Lambda^2-\Lambda^3) \sqrt{(\sqrt[4]{4}-\Lambda)^2+4\sqrt[2]{4}} \right], \\ \frac{\sqrt[5]{4}}{2} \left[\sqrt{(\sqrt[4]{4}-\Lambda)^2+4\sqrt[2]{4}} - \sqrt[4]{4} + \Lambda - \sqrt{\frac{2}{\sqrt[4]{4}}} \right. \\ \left. \cdot \sqrt{3\sqrt[3]{4}-2\sqrt[4]{4}\Lambda^2+\Lambda^3 - (\sqrt[2]{4}+\sqrt[4]{4}\Lambda-\Lambda^2) \sqrt{(\sqrt[4]{4}-\Lambda)^2+4\sqrt[2]{4}}} \right], \sqrt[4]{4} \geq t_2 \cdot \Lambda \end{array} \right. \\
\mathcal{F}_7^{\mathcal{F}^9} &= \left\{ \begin{array}{l} \frac{(\sqrt[2]{4}-\sqrt[4]{4}\Lambda+\Lambda^2)^2}{\sqrt[5]{2(2\sqrt[2]{4}-4\sqrt[4]{4}\Lambda+3\Lambda^2)}} , \sqrt[4]{4} \leq 2\Lambda \\ \frac{\sqrt{\sqrt[2]{4}-\sqrt[4]{4}\Lambda+\Lambda^2}}{\sqrt[4]{4}} \left[\sqrt{\sqrt[2]{4}-\sqrt[4]{4}\Lambda+\Lambda^2} - \sqrt{\sqrt[2]{4}-3\sqrt[4]{4}\Lambda+2\Lambda^2} \right] , \sqrt[4]{4} \geq 2\Lambda \end{array} \right. \\
\mathcal{F}_8^{\mathcal{F}^9} &= \left\{ \begin{array}{l} \frac{\sqrt[5]{4}}{(2\sqrt[4]{4}-\Lambda)(2\sqrt[3]{4}-4\sqrt[2]{4}\Lambda+4\sqrt[4]{4}\Lambda^2-\Lambda^3)} , \sqrt[4]{4} \leq s_3 \cdot \Lambda \\ \frac{1}{2\sqrt[4]{4}-\Lambda} \left[\sqrt[2]{4} - \sqrt{\sqrt[4]{4}(\sqrt[4]{4}-\Lambda)(\sqrt[2]{4}-3\sqrt[4]{4}\Lambda+\Lambda^2)} \right] , \sqrt[4]{4} \geq s_3 \cdot \Lambda \end{array} \right. \\
\mathcal{F}_{10}^{\mathcal{F}^9} &= \frac{\sqrt{\Lambda}}{2} \left[\sqrt{\Lambda} + \sqrt{4\sqrt[4]{4}-3\Lambda} - \sqrt{\frac{2}{\sqrt[4]{4}}} \right. \\
&\quad \left. \cdot \sqrt{2\sqrt[2]{4}-3\sqrt[4]{4}\Lambda+\Lambda^2 - (\sqrt[4]{4}-\Lambda) \sqrt{\Lambda(4\sqrt[4]{4}-3\Lambda)}} \right].
\end{aligned}$$

Theorem 6. Let $t_3 > 1$, $t_4 > 1$ respectively $t_5 > 1$ be the roots of the equations

$$t^3 - t^2 - t - 1 = 0, \quad t^3 - 3t^2 + 2t - 1 = 0, \quad t^3 - 5t^2 + 4t - 1 = 0.$$

The complementary of the Greek means with respect to $\mathcal{F}_{10}$ are:

$$\begin{aligned}
\mathcal{A}^{\mathcal{F}^{10}} &= \\
&= \left\{ \begin{array}{l} \frac{1}{2(\sqrt[4]{4}+\Lambda)} \left[\sqrt[2]{4} + 5\sqrt[4]{4}\Lambda - 2\Lambda^2 - (\sqrt[4]{4}-\Lambda) \sqrt{\Lambda(4\sqrt[4]{4}-3\Lambda)} \right] , \sqrt[4]{4} \leq 3\Lambda \\ \left[\sqrt[4]{4} + 2\Lambda + \sqrt{\Lambda(4\sqrt[4]{4}-3\Lambda)} - \sqrt{\sqrt[2]{4}-8\sqrt[4]{4}\Lambda+9\Lambda^2+2(\sqrt[4]{4}-2\Lambda) \sqrt{\Lambda(4\sqrt[4]{4}-3\Lambda)}} \right] \\ /4 , \sqrt[4]{4} \geq 3\Lambda \end{array} \right. \\
\mathcal{G}^{\mathcal{F}^{10}} &= \frac{1}{2} \sqrt{\frac{\Lambda}{\sqrt[4]{4}}} \left[4\sqrt[4]{4} - \Lambda - \sqrt{\sqrt[4]{4}\Lambda} - (\sqrt{\sqrt[4]{4}} - \sqrt{\Lambda}) \sqrt{4\sqrt[4]{4}-3\Lambda} \right]; \\
\mathcal{H}^{\mathcal{F}^{10}} &= \frac{1}{4\sqrt[4]{4}(\sqrt[4]{4}+\Lambda)} \left[2\sqrt[3]{4} + 9\sqrt[2]{4}\Lambda - 2\sqrt[4]{4}\Lambda^2 - \Lambda^3 - (\sqrt[2]{4}-\Lambda^2) \sqrt{\Lambda(4\sqrt[4]{4}-3\Lambda)} \right]; \\
\mathcal{C}^{\mathcal{F}^{10}} &= \\
&= \left\{ \begin{array}{l} \frac{\sqrt[5]{4}}{2(\sqrt[4]{4}+\Lambda)(\sqrt[2]{4}+\Lambda^2)} \left[2\sqrt[3]{4} + \sqrt[2]{4}\Lambda + 6\sqrt[4]{4}\Lambda^2 - \Lambda^3 - (\sqrt[2]{4}-\Lambda^2) \sqrt{\Lambda(4\sqrt[4]{4}-3\Lambda)} \right] , \\ \sqrt[4]{4} \leq t_3 \cdot \Lambda \\ \frac{1}{4(\sqrt[4]{4}+\Lambda)} \left\{ 2\sqrt[2]{4} + \sqrt[4]{4}\Lambda + 3\Lambda^2 + (\sqrt[4]{4}+\Lambda) \sqrt{\Lambda(4\sqrt[4]{4}-3\Lambda)} - \sqrt{2} \right. \\ \left. \cdot \left[4\sqrt[4]{4} - 4\sqrt[3]{4}\Lambda - 3\sqrt[2]{4}\Lambda^2 + 2\sqrt[4]{4}\Lambda^3 + 5\Lambda^4 + (2\sqrt[3]{4}-\sqrt[2]{4}\Lambda-4\sqrt[4]{4}\Lambda^2-\Lambda^3) \right. \right. \\ \left. \left. \sqrt{\Lambda(4\sqrt[4]{4}-3\Lambda)} \right]^{1/2} \right\} , \sqrt[4]{4} \geq t_3 \cdot \Lambda \end{array} \right. \\
\mathcal{F}_5^{\mathcal{F}^{10}} &=
\end{aligned}$$

$$\begin{aligned}
&= \begin{cases} 2\vee - \wedge + \frac{1}{4\wedge} \left[2\vee + \wedge + \sqrt{\wedge(4\vee - 3\wedge)} \right] \cdot \left[\sqrt{(\vee - \wedge)^2 + 4\wedge^2} - \vee - \wedge \right], \\ \vee \leq 2\wedge \\ \frac{1}{4} \left[\vee + \sqrt{\wedge(4\vee - 3\wedge)} + \sqrt{(\vee - \wedge)^2 + 4\wedge^2} - \sqrt{2} \right. \\ \left. \cdot \sqrt{\left[\vee + \sqrt{\wedge(4\vee - 3\wedge)} \right] \cdot \left[\sqrt{(\vee - \wedge)^2 + 4\wedge^2} + \vee - 4\wedge \right] - \wedge(3\vee - 5\wedge)} \right], \\ \vee \geq 2\wedge \end{cases} \\
&\mathcal{F}_6^{\mathcal{F}10} = \\
&\begin{cases} \frac{1}{4\vee^2} \left[\wedge \sqrt{\wedge(4\vee - 3\wedge)} + \vee^2 + 2\vee\wedge \right] \cdot \left[\sqrt{(\vee - \wedge)^2 + 4\vee^2} + \vee - \wedge \right] \\ - \frac{1}{2} \sqrt{\wedge(4\vee - 3\wedge)} - \frac{3\vee}{4} + \frac{\wedge^3}{4\vee^2}, \vee \leq t4 \cdot \wedge \\ \frac{1}{4} \left\{ 2\wedge - \vee + \sqrt{\wedge(4\vee - 3\wedge)} + \sqrt{(\vee - \wedge)^2 + 4\vee^2} - \sqrt{2} \right. \\ \left. \cdot \left[\left(2\wedge - \vee + \sqrt{\wedge(4\vee - 3\wedge)} \right) \cdot \left(\sqrt{(\vee - \wedge)^2 + 4\vee^2} - \vee - 2\wedge \right) \right. \right. \\ \left. \left. + 2\vee^2 - 9\vee\wedge + 9\wedge^2 \right]^{1/2} \right\}, \vee \geq t4 \cdot \wedge \end{cases}; \\
&\mathcal{F}_7^{\mathcal{F}10} = \\
&\begin{cases} \frac{1}{2\vee(\vee^2 - \vee\wedge + \wedge^2)} \left[2\vee^4 - 3\vee^3\wedge + 6\vee^2\wedge^2 - 5\vee\wedge^3 \right. \\ \left. + 2\wedge^4 - \vee(\vee - \wedge)^2 \cdot \sqrt{\wedge(4\vee - 3\wedge)} \right], \vee \leq t4 \cdot \wedge \\ \frac{1}{4\vee} \left\{ 2\vee^2 - \vee\wedge + 2\wedge^2 + \vee \sqrt{\wedge(4\vee - 3\wedge)} - \sqrt{2} \right. \\ \left. \cdot \left[2\vee^4 - 2\vee^3\wedge + \vee^2\wedge^2 - 2\vee\wedge^3 + 2\wedge^4 + \vee(2\vee^2 - 5\vee\wedge + 2\wedge^2) \right. \right. \\ \left. \left. \cdot \sqrt{\wedge(4\vee - 3\wedge)} \right]^{1/2} \right\}, \vee \geq t4 \cdot \wedge \end{cases}; \\
&\mathcal{F}_8^{\mathcal{F}10} = \begin{cases} \frac{1}{2\vee^2(2\vee - \wedge)} \left[2\vee^4 + 6\vee^3\wedge - 11\vee^2\wedge^2 + 6\vee\wedge^3 \right. \\ \left. - \wedge^4 - (2\vee^3 - 5\vee^2\wedge + 4\vee\wedge^2 - \wedge^3) \sqrt{\wedge(4\vee - 3\wedge)} \right], \vee \leq t5 \cdot \wedge \\ \frac{1}{4(2\vee - \wedge)} \left\{ 2\vee^2 + 2\vee\wedge - \wedge^2 + (2\vee - \wedge) \sqrt{\wedge(4\vee - 3\wedge)} \right. \\ \left. - \sqrt{2} \cdot \left[2\vee^4 - 20\vee^3\wedge + 34\vee^2\wedge^2 - 18\vee\wedge^3 + 3\wedge^4 \right. \right. \\ \left. \left. + (4\vee^3 - 14\vee^2\wedge + 12\vee\wedge^2 - 3\wedge^3) \sqrt{\wedge(4\vee - 3\wedge)} \right]^{1/2} \right\}, \vee \geq t5 \cdot \wedge \end{cases}; \\
&\mathcal{F}_9^{\mathcal{F}10} = \frac{1}{2\vee(2\vee - \wedge)} \left[2\vee^3 + 5\vee^2\wedge - 7\vee\wedge^2 + 2\wedge^3 - \vee(\vee - \wedge) \sqrt{\wedge(4\vee - 3\wedge)} \right].
\end{aligned}$$

Theorem 7. Among the Greek means we have only the following relations:

$$\mathcal{H}^A = \mathcal{C}, \mathcal{C}^A = \mathcal{H}, \mathcal{F}_7^A = \mathcal{F}_9, \mathcal{F}_9^A = \mathcal{F}_7,$$

$$\mathcal{A}^G = \mathcal{H}, \mathcal{H}^G = \mathcal{A}, \mathcal{F}_8^G = \mathcal{F}_9 \text{ and } \mathcal{F}_9^G = \mathcal{F}_8.$$

Remark 1. As it is shown in [6], each of the above results gives an example of Gaussian double sequence with known limit.

REFERENCES

- [1] Antoine, C., *Les Moyennes*, Presses Universitaires de France, Paris, 1998
- [2] Borwein, J. M., Borwein, P. B., *Pi and the AGM - a Study in Analytic Number Theory and Computational Complexity*, John Wiley & Sons, New York, 1986
- [3] Bullen, P. S., *Handbook of Means and Their Inequalities*, Kluwer Academic Publishers, Dordrecht/ Boston/ London, 2003
- [4] Gini, C., *Le Medie*, Unione Tipografico Torinese, Milano, 1958
- [5] Pappus d'Alexandrie, *Collection Mathématique* (trad. De Paul Ver Eecke), Librairie Blanchard, Paris, 1932
- [6] Toader, Gh., *Complementariness with respect to Greek means*, Automat. Comput. Appl. Math. **13**(3) (2004), 23-28
- [7] Toader, S., Toader, Gh., *Greek means*, Automat. Comput. Appl. Math. **11**(1) (2002), 159-165
- [8] Toader, S., Toader, Gh., *Complementary of a Greek mean with respect to another*, Automat. Comput. Appl. Math. **13**(3) (2004), 14-22

TECHNICAL UNIVERSITY CLUJ-NAPOCA
DEPARTMENT OF MATHEMATICS
BARIȚIU 28, 400027 CLUJ-NAPOCA, ROMANIA
E-mail address: Silvia.Toader@math.utcluj.ro
E-mail address: Gheorghe.Toader@math.utcluj.ro